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choose the correct answer: :w‘ a—.“éy‘ Q:‘i‘

& Jshll it Jara S 13 A o Ui 4d gl Jubiiia (1)
sl yas Jaa od6cm/sec

(1) A rectangle whose length is twice its width. If the rate of
hange in length is 6cm/sec, then the rate of change of

> (a) 12cm/sec (b) 3cm/sec (c) 6cm/sec (d)— 3cm/sec

r 2cm/sec Jday 13 A aldal) Jgh 8 cm5 4xlda Jsb 2 4 (2)
e AN iy A £ () My o al) i J gl ol

(2) A square whose side length is 5cm the side length began to
increase at a rate of 2cm/sec. The side length of the square
after time t seconds gives the relationship....

C (a) 2t (b)5 + 2t

(c)2t—5 (d)5 + 4t>
m tx Jaall+ LV Jolall= t (pa) s Jghall -z aldi )

O 2cm/secdira AY) (5 ghuiia Cula alia Jgha 315 13 (3)
m st FORIKgY Eatiall Jn:n.n

m(3) If the side length of an equilateral triangle increases

by2cm /sec, the perimeter of the triangle increases by...

— (a) 2cm/sec (b) 8cm/sec

Z (c) 4cm/sec (d) 6 cm/sec

00971503393009 -2~ (Cxadl) Gmess WA
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=%o‘ﬁy=x2—3xol5‘3!(4)

(4)Ify=x2—3xisthen%=% isatx =.....

(a) 1cm (b) 2cm (c) 3cm (d)4cm

2 =48y’ + % = 10 ke (o pma da3 1) (5)

1V 11H

(5) If a particle moves along the y* + x? = 10 curve

dy dy _ . s
wherea = 4 then Fre at the point (\/§ \/g)

(a) 2 (b) 2V5 (c) 4 (d)4V5

b dalice 303 1 Jana @S )3 AURTL 2048 JSAY) day s dadia (6)
dasbiall alia Jgha 330 Jaa & 75cm? /sec Aaziiall
5cm Yala Jsh 058 L em/sec

6) A square-shaped plate is stretched regularly. If the rate of

.
-
W
N

increase of the surface area of the plate75m‘r.',2 /sec, then the
rate of increase of the length of the side of the plate is equal to
I I Icm/sec. «......when its side length is 5 cm

— (a) 2.5 (b)5 (c)7.5 (d)15

Z
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0.2cm/sec Jaa gala Jsh i JSA) day e daddia (7)
S b dabua (B il Jara (B

8/2cm & _ké

(7) A square-shaped plate whose side length changes at a rate

of 0.2cm/sec, so the rate of change in its surface area is equal
I to when the length of its mushroom is 8V2cm

> (a) %cmz/sec (b) 3.2cm?/sec

i (c) % cm? /sec (d)16 cm? /sec

I Qieﬁ\ﬁ}:\aj!da@yﬁﬁgﬁécﬁupugﬁﬁhﬁu(g)
3L Jaa 0 3cm /Secdme Aa Ao gall hd Cdal

- g ot 54 30 B3

(8) A stone fell into still water and a circular wave was
U)formed. If it is known that the radius of the wave

increases at a rate of 3 cm / sec, then the rate of

ncrease of the wave after 4 seconds has passed is

I I I (a) 8mem?/sec (b) 72mcm?/sec

mm (c) 12wcm?/sec (d)24m cm? /sec

Z

00971503393009 -4~ (Cpadl) Gmes A




AN ) A Juadl) dialdl) 4l gall) ol g A jaa
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Jwa o 0.2 cm? /sec J g 513 (B Aaluw 3135 (9)
I Laie cm/sec......... 3 0oké dual sk A B33
7cm Jhdll sl Jgh ) 5

(9) The area of a circular disk increases by the rate

f 0.2 cm? /sec, the rate of increase in the length of its
radius is equal to cm/sec when the length of the

>radius is7cm
22

(a) %cm/sec (b) - cm/sec

—
L

1
(¢) mcm/sec (d) 3.5 cm/sec

0.5 cm/sec Jdoa 2,8l o jhd Jsh all e g2 @ (10)

= dabu dalua A alil) Jana o)

. 14cm o k8 Cial Jgh

m (10) A metal disc decreases the length of its diameter by
because the rate of cooling by the rate of 0.5 cm/sec

m decrease in the surface area = .......... cm? /sec when the
length of the radiusis 14 cm

I I I (a) 5.5cm?/sec (b) 11cm?/sec

- (C) 16cm?/sec (d)22 cm? /sec

Z
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slall 4d cuay 4miala Jsha JSA) Gasa ela 1A (11)
I OIA (A slall U il Jana ()8 imz /mindaa

(11) A cubic-shaped water tank, whose side length is 4m,
I into which the water is poured at a rate -;-‘mz /min, so

the rate of change of the height of the water in the tank
> ....... m/min

r 1

(a) %m/ min (b) % m/min

I (c) % m/min (d) % m/min

( Midma gl y=x— —— sl o Al ¢ ali (12)

x2+1
Jira (1B 9 (s b x = /2 e (el Apidlly (X) ead) Lgilaa
m gJMM\M&@ﬂM(Y)@J@\@‘h\ﬁ

(12) A point moves on the curve y = x — *_ so the rate of

2251
change of its X coordinate (X) with respect to time at x = 2
equals 9, so the rate of change of its Y coordinate (Y) with
I I Irespect to time at the same point is equal
(a) 4 (b) 6
(c) 8 (d)10

Z
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80 Jaa ol 1 em3 /sec Asdy Wadiag zlil) (e caga jguals (13)
cm/sec

(13) An ice cube melts, maintaining its 1 cm? /sec shape,
==mmws0 the rate of change of the length of the edge of a cube

when its volume 8 cm? is...... cm/sec

I (a) % cm/sec (b) Fiz cm/sec

> (c) ;—icm/sec (d)I—;cm/sec

[ kil dgh i daa ol JRIN) G g e g3UA) (a3 4002 (14)
L Adial ) Ao ag sall alia Jgh T Jaa 5 Sl B

Ii14) A circle touches the sides of a square from the inside,

o the rate of change of the length of the radius of the
circle is equal to The rate of change of the side
length of the square at any point.

(a) G (b) ol

(€) &0 (d)Jiel 2xy )

00971503393009 - 7- (Cxadl) Omess DA




2022/2021 (e SR cbuab )l adiie 12 diall
Jiay W Jg @ = gAY (5 gludall Sulial) alia Jgh (A8 1)) (15)
(g sbeay alial) dalica & ) 3l Jana b (k)

2
(a) \/—gak (b) V3 ak

(c) ? ak (d) % ak

>

Ol S 1318 gy dlaking My Cusny 3a Lailh &y s A0 shaud (16)
|_ Jiras a3 (h) WeWilg 0.5 cm/s Jaa A (1) kb il
r =3¢ 05 Laie Ulghul)) aaa A il Juwa ol 0.25 cm/s
cm3/s g h =5

I(lﬁ) An upright circular cylinder is expanding so that it remains
in its shape. If the length of its radius (r) increases at a rate of
0.5 cm/s and its height (h) increases at a rate of 0. 25 cm/s

Cthen the rate of change in the volume of the cylinder when r =3,

h =5 equals

() 6o 15

(a) i cm?/sec (b) =7 cm3 /sec

m 13

() —mcm3/sec (d) 3 7 cm?® [sec
m ° ’
- —

00971503393009 -8~ (Cxall) s A,
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A% Bdlal) Jaaa o %cm/s Janay B yila phad Cikal J gk 213 13) (17)

I Jaar ddaall) 32 dic

(17) If the length of the radius of a circle increases by 2 cm/s,
S 4

then the circumference at this moment increases by a rate

I (a) ;cm/sec (b) %ﬂ cm/sec

> (©) %cm/sec (d)8cm/sec

[ \alws 2 om/min Jos W skt Chai Jgh 2 5 332 (18)

3Aa aic Ll Chual Jsh (b 20T cm?Z/min Sy

I(18) A circle whose radius increases by the rate of
2 cm/min and its area increases by20mw cm? /min, so

Cthe length of its radius at this moment

5
m (a) > (b) 5

(c) 10 (d)20

m a Al i Jara S 1M Aa o Gz 4d sk Jalaia (19)
= Jlial) jhd yad Jaa 03 3 cm/min

I I I(19) A rectangle whose length is twice its width. If the rate of
change of width is 3 cm/min, then the rate of change of the _

ssmmmmrectangle's diameter =

Z (@) 6 0)2vV5  ()3V5 (d)V15

00971503393009 -9- (Cpadl) s A,
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Sdnas &l i g (g gluiia Culiia gL 1 (S 13) (20)
s Gliall alia o a5 Jaxa 083 em/min

(20) If the height of an equilateral triangle is increasing at
wmmmma rate of V' 3 cm/min, the rate of change of the side
I_I(—:‘ngth of the triangle is equal to

>

|_ y 60

I (a) 4 (b)2 (c)g (d)%

—geali=y+x 0SS (21)
Jaal) bl 2y < x(w JS(a)

Jaral) udly a8l y ¢ x (e JS(b)
Jarall (ubly (a8l AV L 5 Ladaa) (c)
G Laa (2Y (d)

mZI) x + y=constant then: -
(a) Both x and y increase at the same rate.
sssmmmm (b) Both x and y are decreasing at the same rate.

(c) One of them increases and the other decreases at the same rate.

Z (d) None of the above.

00971503393009 ~10- (Cradl) Comn M1
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dhalll Mie 6 cm? /sec o8 <l Jaa b S o dalua 0 3 (22)
Iaeagﬁh\-.le\ Jaa b 30 cm 38N jhd Ciial Jgha b 58 Al
I A

=mmmm(22) The surface area of a sphere increases at a constant

rate of 6 cm?/sec. At the moment when the length of

the radius of the sphere is 30 cm the rate of increase in

the size of the sphere =......... cm?3 /sec

(@) 180 (b)40 (c)90 (d)90T

—

Jiay slall 4d cuay 45 cm3 4aaa 8 sley (23)
2908 3 (i sle o) (M 5 emB /sec

(23) An empty container of a size 45 cm3 in which the

ater is poured at a rate of 5 cm?/sec, the container is
filled after second

(a) 9 (b)135 (c)45 (d)5

m :JLA-:;IJ‘

Tl
— O % Jarali+ (i) ‘aea.“ = g.al.g.d\ e@é.“

Z
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ik g 6em (5 b Adln (30 JS Jsh cpBldl (5 gbuiia Eiliia (24)

T Aol dee (1) 3 (x) s L gl
s x = 30° do Glial) dalua i Jaa b 45801

(24) An isosceles triangle the length of each of its legs

I—equals 6cm and the angle between them is equal to (x). If
(x) changes at a rate of% radians per minute, the rate of

>change of the area of the triangleat x = 30°%is

V3 (b)% (€)9V3 (d)9

m t el Ao Loy Cigiia ancia Lgadity 1 S Aa) Y Jadi 5 (25)
ad) il T a8 a3 t EuaS = 49t — 4. 92 ABdlally
m ALl BB R NEWES/RVETNEENE)
(25) The displacement S crossed by a higher vertically
mprojected particle is related to time t by the
relationship S = 49t — 4. 9t% where t is time in seconds.

T (a)9.8 (b)10 (c)5 (d)9

Z
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G Laddiidic y = f(x) adall guladd) Jue ¢S 1Y (26)

I Auli/claa g 3 Jamay (a8liny dadil) 53l () (Sl (185.0.5
4l foaa g s Sbu s bal) Lgilan) il Jana G,

WHIII=2(26) If the slope of the tangent to the curve y = f (x) at a point
equals 0.5 and the abscissa of that point is decreasing at a rate
I of 3 units / second, then the rate of change of its y-coordinate
units / second

®>  ©F @)

I dﬁ&)ﬂﬂ\ Jara (5 glaw B yilAl) ngAJg:dl Jaza S 13) (27)
= r o Las L

(27) If the rate of change in the area of a circle equals the
rate of change in the length of its diameter numerically,
NN I Sisissninivinsis

C e B> ©F (@

m 3y ualal) aaa 85 cm /sec Jiray csa @"h Jska 23 (28)
m 10 cm 4l Jsh 05S Ladie cm3 /sec Jaa

(28) The side length of a cube increases at a rate of

I | |5 cm / sec, the volume of the cube increases by a rate of
cm? /sec when its side length is 10cm

T (a) 1500 (b)150 (€)45 (d)50

Z
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Jana S M8 AGaclB Jhad gl (5 gliw AS T ) Alld (5 4ila Jag 13 (29)
I 85 Jaa o8 %cm/sec=ﬁ$\3ﬂ@dsbxﬁ

o kb Chal sk 01 6% Ladie em3 /sec

I (29) A right circular cone whose height is equal to the
>Iength of the diameter of its base. If the rate of change of

the length of the radius of its base =7—1I cm/sec, then the

rate of change of the volume of the cone

— P, cm3/sec When the length of its radius is
equal to 5cm

I(a) 507 (b)150 (02207 (d)50

3
30) If the (A) area of a circle with radius (r) changes at a
constant rate then: -

O cull Jamay iy (r) W b Lial gl 5503 dalua (A) il 1) (30)

m (a) S A
Tl dA
— Y@

00971503393009 ~14- (Cradl) Comn M1
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